MATH 102.1 (Term 161)

Quiz 1 (Sects. 5.3, 5.4 & 5.5)

Name:

Duration: 20min

ID number:

1.)(4pts)Evaluate lim,,_,, Y 22(2? + 1)°Az by expressing this limit as a definite

integral on the interval [0, 1].

2.)(6pts)Evaluate A = j3 (x—2)*(z+3) dz, B = f
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MATH 102.3 (Term 161)

Quiz 1 (Sects. 5.3, 5.4 & 5.5)

Name:

Duration: 20min

ID number:

1.)(4pts)Evaluate lim,,_,., > ie1 2} (z} + 1)°Az by expressing this limit as a definite

integral on the interval [—1,0].

2.)(6pts)Evaluate A = fo (x+1)°(z—1)%dz, B = foxB\/:L?.r, dx, C
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